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Review 3.1t0 3.4 J Per._

NO CALCULATOR

Given P(x), rewrite in Vertex form, Identity the Vertex, X and Y intercepts, Domain and Range and

sketch the graph.

1. P(x)=—2(x+1)*+6 3: (XJ—])?-Z. P(x)=3x"-18x+25 3. P(x)=2x"+4x-3
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4. If a ball is thrown upward with a velocity of 64 ft/s, its height (in feet) after ¢ seconds is given by

y=64t-16* . What is the maximum height attained by the ball? When does the ball reach its

maximum height? 1= /6 /t -2)% 144
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. Find the maximum or minimum point. (State whether it is a max or min) P(x)=-2x* +4x-3 Q i
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Graph the function using all intercepts making sure it exhibits the proper end behavior.
6. Px)=2(x—1) 7. P = (x=D(x+1D(x-2) 8. P(x)= x*'-3x +2x°
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Determine the end behavior of P(x).
9. P(x) = —4x*+5x-2x*+10
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Find the quotient and remainder using long division. X L i | -
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11. X —-x2-2x+6
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(12 and 13) Wl_'ite the polynomial with specified degree that has the given zer
12. degree 3 with zeros -1, 1, 3. (XHXX-IB(){-S} X T 4y 2_x +3
RN

13. degree 4 with double roots of -2 and 3, ’ )(4..’!)(3*"”1
(v —vﬂz(x )= (X AN ln ¥ )= a3 24Xt
14. List the possible rational zeros of P(x) = 45* -8 /XL’—ZX 3_[lxiay sy ?-14x +3
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Find all the rea{'zeros of the polynomial.

Find the quotlent and remainder usmg synthetlc 7msion.

15. P(x) = —3x* ~4x+12 16. P(x)=—x" +10% +8x— s

£1 2,84 6,/2 XEoxve 4 2AY 7140 1 g -f

S| -3 4 2 (Ye2) <) 144 L *4 (
-2 0 iz X327 .

— [ 4 -2 (J !
15 b @ z{w-z R 7k
—Z(dr} 22 | X=Hx2.=0 i\
17. Use Descartes Rule of Signs to dtermine how any positive and how many negative real zeros

P(x)=2x" ~7x> +x* ~18x +3 has. 4*1{/5—4-]-2
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